B VCE & PDF https://lwww.geekcert.com/jn0-211.html
2024 Latest geekcert JNO-211 PDF and VCE dumps Download
: GeekCert.com

JINO0-2110%As

Cloud-Associate (JNCIA-Cloud)

Pass Juniper JNO-211 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.geekcert.com/jn0-211.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Juniper
Official Exam Center

@ After Purchase

@ Guarantee

O Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

Latest INO-211 Dumps | JNO-211 Practice Test | JNO-211 Braindumps 1/3


https://www.geekcert.com/jn0-211.html
https://www.geekcert.com/jn0-211.html
https://www.geekcert.com/jn0-211.html

VCE & PDF https://lwww.geekcert.com/jn0-211.html
2024 Latest geekcert JNO-211 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

What are two characteristics of cloud computing? (Choose two.)
A. customer-owned equipment

B. measured service

C. resource pooling

D. unrestricted public access to all resources

Correct Answer: BC

QUESTION 2

What are two characteristics of Juniper\\'s Connected Security Solution? (Choose two.)
A. manual secure policy control

B. dynamic VPN connections

C. centralized management

D. enforcement everywhere on the network

Correct Answer: CD

QUESTION 3

A customer want to deploy a website that can scale as needed.

Which type of services should the customer purchase in this scenario?
A. DBaaS

B. SaaS

C. BGPaaS

D. FWaaS

Correct Answer: B

QUESTION 4
Which statement is correct when deploying services inside containers?

A. Containers can always be deployed for free
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B. Containers use fewer resources than VMs
C. Services have dedicated processor and memory resources on each server
D. Service must not be deployed using the same operating system

Correct Answer: B

QUESTION 5
Which two protocols provide loop prevention in underlay network? (Choose two.)
A. OSPF

B. VPLS

C. EVPN

D. MSTP

Correct Answer: AD
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